
2019 Dodge 1500 Grille Guard (NO SENSORS)
• 200-41-9004
• 200-41-9006 

Need Help? Call Frontier at 800.634.3086 or E-mail info @frontier-gear.com.

IMPORTANT!! – Keep bolts hand tight until all brackets are fastened together as one unit or you will have a hard 
time lining up all the holes in the brackets.

Step 1: DO NOT REMOVE FACTORY CHROME BUMPER!!    Tow hook models: Remove tow hook and any 
plastic around tow hook. Non tow hook models:  remove plastic in bumper to expose the truck frame plate.  
Mount BRACKET 1 to open bolt holes in bumper face plate.  
Step 2: Attach BRACKET 2 using 14mm bolt to the threaded nut welded on the inside/bottom of the frame. 
Step 3: Attach BRACKET 3 to upper hole of BRACKET 1 and 2 as shown in picture.  When this is done it should 
become obvious where BRACKET 3 attaches on the vertical OEM frame post welded to the bottom of truck frame.
Step 4: Double check spacing of bracket and opening in factory chrome bumper then FINISH TIGHTENING ALL 
BOLTS!
Step 5: Attach Frontier Grille Guard to BRACKET1, align vertically and horizontally and tighten. 
Note: License plate can be re-located by removing plastic license plate backing and reattach  ONLY the plate 
higher up using the ¼” bolts provided.

PLEASE WATCH ONLINE VIDEO FOR FURTHER DETAILED INSTUCTIONS.

Step 4

Quantity Description

28 1/2" Flat Washers

14 1/2" Lock Washers

14 1/2" Hex Nuts

14 1/2" X 1-3/4"  Bolts

2 14mm X 50mm Bolts

2 14mm Lock Washers

2 14mm Flat Washers

2 1/4" X 1" Bolts

2 1/4" Hex Nuts

2 1/4" Lock Washers

4 1/4" Flat Washers

86 Total Pieces

Bolt Bag Contents:

Drivers 
side view

Bracket 1

Bracket 2/Step 2

Bracket 
3/Step 3


